

# Timber sales Tender of standing timber & logs

Scotland's National Forest Estate is responsibly managed to the UK Woodland Assurance Standard.





www.forestryandland.gov.scot

# Forestry and Land Scotland

# Sale of Timber

# Tender of Standing and Roadside Logs

To be opened at FLS Scotland, Head Office On 21<sup>st</sup> February 2024 at 12.00 hours

Please note this catalogue is for information only and bids received using the tender form attached will be excluded from the sale.

All bids for this sale must be submitted through the E-sales system.

For information on registering as an E-sales user please contact Marketing and Sales team at 0131 370 5541 All timber on offer in this sale is covered by Chain of Custody Certificate No FSC: SA-FM/COC-007002 and PEFC: SA-PEFC-FM/COC-007002. These certificates were issued on 12 November 2019 under the QUALIFOR Programme by SGS Forestry.

- The sale of each Lot is subject to the Standard Contract, specimens of which may be obtained from the Chief Executive, Forestry and Land Scotland, Great Glen House, Leachkin Road, Inverness, IV3 8NW (Telephone: 0131 370 5541). These agreements describe the normal terms of trading; application of these terms, which is at the sole discretion of Forestry and Land Scotland, is subject to the establishment of satisfactory credit worthiness.
- 2. The description of the trees in the Sale Catalogue is believed to be accurate but is not guaranteed except as to the number of trees in tariffed Standing Timber Agreements offered for a lump sum. In all other respects the Purchaser is held as satisfying himself as to the description of the Sale Lots.
- 3. Arrangements to inspect the timber should be made direct with the Forest District staff listed. An address list is on the last page of this catalogue. Site boundaries will be clearly marked in a common manner. External boundary trees will be marked with white tape or marking, i.e. the trees to be left standing after harvesting operation. Purchasers will be deemed to have acquainted themselves with arrangements for access and constraints, if any, in respect of each Lot, details of which are also available from the Forest District.
- 4. Prospective purchasers are advised to consult a copy of the map of timber haulage (preferred) routes on public roads before bidding for the lots where these apply. Copies of all the maps together with a statement of preferred routes are held by the Regional Managers also all local authority Divisional road Surveyors within the Region.
- 5. No Lot carries entitlement to continuity of supplies of timber outside the terms and conditions of the Agreement.
- 6. All bids/offers shall be exclusive of Value Added Tax, which shall be added to the purchaser price of each Lot at the appropriate rate.
- Conditional Bids FLS shall only consider conditional bids for Roadside lots if they meet the terms laid out in Particulars of Sale, Logs at Roadside, paragraphs 10 – 13.

## Particulars of Sale

## Standing Timber

- 1. Lots are either offered for lump sum bids or bids per tonne as clearly described on the top of each page in this catalogue.
- 2. Lots offered for lump sum bids All volume estimates have been derived from a full Tariff unless otherwise stated. Tariff sheets may be inspected by appointment at the relevant Regional Office. Volumes quoted for such sales in this catalogue are estimates of the volume of the standing trees only. The prospective purchaser shall therefore be deemed to have formed his own estimate of volume and nothing herein or in the said record shall be taken as a representation including a contract or as a condition or warranty forming part of the contract if and where made.
- 3. Purchasers will be deemed to have satisfied themselves as to the occurrence of butt rot and stain and no subsequent allowance or reduction will be made.
- 4. The commencement and completion dates for all agreements are as indicated against each Lot in the catalogue.
- 5. Prospective purchasers are advised to obtain a copy of the Harvesting Site Plan from relevant Regional Managers for each standing sale. These plans detail specific operational requirements for each sale parcel.
- 6. Purchasers will be deemed to be acquainted with the provisions of Forestry and Land Scotland's Forests and Water Guidelines publication and to ensure that they are accorded with in their harvesting operations

### Logs at Roadside

- 6. Presentation of sawlogs for sale will be in accordance with the Forestry Commission's Field Book No.9 "Classification and Presentation of Softwood Sawlogs", a copy of which can be obtained on request from the Chief Executive, Forestry and Land Scotland, Great Glen House, Leachkin Road, Inverness IV3 8NW
- 7. Lots are either offered for a price per cubic metre underbark or for a price per tonne as clearly described on the top of each page in this catalogue.
- 8. Where lots are offered for a price per cubic metre underbark the volume of the timber will be calculated from the weight of loads supplied, converted to volume using volume/weight fixed conversion factors where such agreements currently exist between Forestry and Land Scotland and relevant parties. Successful purchasers that do not have an agreement for fixed conversion factors with Forestry and Land Scotland shall be given the

opportunity to adopt the relevant fixed conversion factor(s) based on the national data set within the relevant supplying location. Failing such an agreement being reached, conversion factors shall be calculated from measurements of the volume of 1:10 sample loads. The volume of the sample loads will be obtained by the methods described in Field Book 9.

- 9. The average DBH of the standing trees from which the logs will be produced is an estimate only, provided for the guidance of prospective purchasers - it is not guaranteed.
- 10. Forestry and Land Scotland (FLS) carefully consider the log specification, including the product range, for sawlogs and roundwood and advertise them for sale at roadside on this basis. In the event of a conditional bid being placed, FLS shall only consider a request to change that specification if it falls within the Minimum Top Diameter, Minimum and Maximum lengths and Average DBH as advertised in the sale catalogue. Any condition outwith this range shall be excluded.
- 11. Conditional bids that do not influence the advertised specification and therefore the value of the sale lot shall of course be considered wherever possible.
- 12. In the event of a conditional bid being accepted, FLS reserve the right to vary the contract volume if the breakout is adversely affected.
- 13. Conditional Bids must be recorded on a Lot by Lot Basis. FLS shall not accept conditional bids condensed into 1 single Lot and covering multiple lots. FLS reserve the right to exclude any conditional bids that are not correctly submitted on a Lot by Lot basis
- 14. Commencement Date means the date or last date of execution of this Agreement;
- 15."Start Date" means the date specified as such in Part I of the Schedule, being the date upon which Products will become available for uplift and removal in terms of this Agreement in accordance with the terms of the Harvesting Production Plan;
- 16."End Date" means the date specified as such in Part I of the Schedule, being the date upon which all Products have been uplifted and removed from the Stacking Sites by the Purchaser in accordance with the terms of the Uplift Profile

17. The Start Date and the End Date shall be as specified in Part I of the Schedule, provided always that the Start Date may, at the request of the Purchaser and with the agreement of Forestry and Land Scotland, be deferred for a maximum of two calendar months.

Agreement to change the End Date shall not be unreasonably withheld by Forestry and Land Scotland, provided always that the End Date shall not be extended, whether by one or more extensions, for a period of more than three months without the prior written approval of the Head of Marketing and Sales of Forestry and Land Scotland.

- 18. "Cutting Specification" means the specification agreed between the parties in writing for the cutting of the Products in preparation for their uplift and removal in accordance with the terms of this Agreement set out in Part I of the Schedule, such specification must be within the minimum and maximum lengths and other parameters in relation to timber contained in the Sale Catalogue and must otherwise be in accordance with Field Book 9
- 19. Harvesting Production Plan" means an estimated weekly quantity and indicative timeline prepared by Forestry and Land Scotland in relation to the harvesting and extraction of the Products to roadside
- 20. Uplift Profile" means the profile for the uplift and removal of the Products by the Purchaser to be agreed between the parties in accordance with the terms of clause 3.6 or determined in accordance with the terms of clause 3.7 as the same may be amended from time to time in accordance with the terms of clause 3.7;
- 21."Harvesting Recovery Plan" means a plan prepared by Forestry and Land Scotland and agreed in writing by both parties, in the event that the actual volume of Products made available by Forestry and Land Scotland is 20% or more below the volumes specified in the Uplift Profile;
- 22."Uplift Recovery Plan" means a revised profile for the uplift and removal of Products to be prepared by the Purchaser, and agreed in writing by both parties, in the event that the Purchaser has failed to uplift available Products and the actual volume of Products uplifted by the Purchaser is 20% or more below the volume of Products required to be uplifted by the Purchaser in terms of the Uplift Profile;
- 23. The Purchaser shall, prior to the Start Date, notify Forestry and Land Scotland in writing of the haulage contractor(s) and / or any other Purchaser Representative(s) authorised by the Purchaser to access the Work Site for the uplift and removal of the Products of in terms of this Agreement.
- 24. Failure to notify Forestry and Land Scotland of the relevant haulage contractor(s) and / or any other Purchaser Representatives prior to the Start Date, Forestry and Land Scotland shall be entitled at its sole discretion

to defer the Start Date for a period of up to 28 days, in which case clause 3.13 shall apply.

- 25."Total Quantity" means the total quantity of the Products specified as such in Part I of the Schedule and to be uplifted and removed by the Purchaser pursuant to this Agreement;
- 26."Maximum Quantity" means 110% (one hundred and ten per cent) of the Total Quantity;
- 27."Minimum Quantity" means 90% (ninety per cent) of the Total Quantity;

# **Species Codes and Abbreviations**

SPScots PineLPLodgepole PineCPCorsican PineMPMixed PineELEuropean LarchESFSilver FirHLHybrid LarchJLJapanese LarchMLMixed LarchNSNorway SpruceSSSitka SpruceDFDouglas firGFGrand firNFNoble firWHWestern HemlockOMSSerbian SpruceMOPMountain PineLCLawson's CypressRCWestern Red CedarMCMixed BroadleavesBEBeechRONNothofagus ObliquacmCentimetresm3Cubic MetresmMetresTDTop DiameterUBUnderbarkOBHDiameter at Breast HeightHaHectares		les coues and Abbre
CPCorsican PineMPMixed PineELEuropean LarchESFSilver FirHLHybrid LarchJLJapanese LarchMLMixed LarchNSNorway SpruceSSSitka SpruceMSMixed SpruceDFDouglas firGFGrand firNFNoble firWHWestern HemlockOMSSerbian SpruceMOPMountain PineLCLawson's CypressRCWestern Red CedarMCMixed BroadleavesBEBeechRONNothofagus ObliquacmCentimetresm3Cubic MetresmMetresTDTop DiameterUBUnderbarkOBOverbarkDBHDiameter at Breast Height	SP	Scots Pine
MPMixed PineELEuropean LarchESFSilver FirHLHybrid LarchJLJapanese LarchMLMixed LarchNSNorway SpruceSSSitka SpruceMSMixed SpruceDFDouglas firGFGrand firNFNoble firWHWestern HemlockOMSSerbian SpruceMOPMountain PineLCLawson's CypressRCWestern Red CedarMCMixed BroadleavesBEBeechRONNothofagus ObliquacmCentimetresm3Cubic MetresmMetresTDTop DiameterUBUnderbarkOBOverbarkDBHDiameter at Breast Height	LP	Lodgepole Pine
ELEuropean LarchESFSilver FirHLHybrid LarchJLJapanese LarchMLMixed LarchNSNorway SpruceSSSitka SpruceMSMixed SpruceDFDouglas firGFGrand firNFNoble firWHWestern HemlockOMSSerbian SpruceMOPMountain PineLCLawson's CypressRCWestern Red CedarMCMixed BroadleavesBEBeechRONNothofagus ObliquacmCentimetresm3Cubic MetresmMetresTDTop DiameterUBUnderbarkOBOverbarkDBHDiameter at Breast Height	СР	Corsican Pine
ESFSilver FirHLHybrid LarchJLJapanese LarchMLMixed LarchNSNorway SpruceSSSitka SpruceMSMixed SpruceDFDouglas firGFGrand firNFNoble firWHWestern HemlockOMSSerbian SpruceMOPMountain PineLCLawson's CypressRCWestern Red CedarMCMixed BroadleavesBEBeechRONNothofagus ObliquacmCentimetresm3Cubic MetresmMetresTDTop DiameterUBUnderbarkOBOverbarkDBHDiameter at Breast Height	MP	Mixed Pine
HLHybrid LarchJLJapanese LarchMLMixed LarchNSNorway SpruceSSSitka SpruceMSMixed SpruceDFDouglas firGFGrand firNFNoble firWHWestern HemlockOMSSerbian SpruceMOPMountain PineLCLawson's CypressRCWestern Red CedarMCMixed BroadleavesBEBeechRONNothofagus ObliquacmCentimetresm3Cubic MetresmMetresTDTop DiameterUBUnderbarkOBOverbarkDBHDiameter at Breast Height	EL	European Larch
JLJapanese LarchMLMixed LarchNSNorway SpruceSSSitka SpruceMSMixed SpruceDFDouglas firGFGrand firNFNoble firWHWestern HemlockOMSSerbian SpruceMOPMountain PineLCLawson's CypressRCWestern Red CedarMCMixed BroadleavesBEBeechRONNothofagus ObliquacmCentimetresm3Cubic MetresmMetresTDTop DiameterUBUnderbarkOBOverbarkDBHDiameter at Breast Height	ESF	Silver Fir
MLMixed LarchNSNorway SpruceSSSitka SpruceMSMixed SpruceDFDouglas firGFGrand firNFNoble firWHWestern HemlockOMSSerbian SpruceMOPMountain PineLCLawson's CypressRCWestern Red CedarMCMixed BroadleavesBEBeechRONNothofagus ObliquacmCentimetresm³Cubic MetresmMetresTDTop DiameterUBUnderbarkOBOverbarkDBHDiameter at Breast Height	HL	Hybrid Larch
NSNorway SpruceSSSitka SpruceMSMixed SpruceDFDouglas firGFGrand firNFNoble firWHWestern HemlockOMSSerbian SpruceMOPMountain PineLCLawson's CypressRCWestern Red CedarMCMixed BroadleavesBEBeechRONNothofagus ObliquacmCentimetresm³Cubic MetresmMetresTDTop DiameterUBUnderbarkOBOverbarkDBHDiameter at Breast Height	JL	Japanese Larch
SSSitka SpruceMSMixed SpruceDFDouglas firGFGrand firNFNoble firWHWestern HemlockOMSSerbian SpruceMOPMountain PineLCLawson's CypressRCWestern Red CedarMCMixed BroadleavesBEBeechRONNothofagus ObliquacmCentimetresm3Cubic MetresmMetresTDTop DiameterUBUnderbarkOBOverbarkDBHDiameter at Breast Height	ML	Mixed Larch
MSMixed SpruceDFDouglas firGFGrand firNFNoble firWHWestern HemlockOMSSerbian SpruceMOPMountain PineLCLawson's CypressRCWestern Red CedarMCMixed ConiferMBMixed BroadleavesBEBeechRONNothofagus ObliquacmCentimetresm³Cubic MetresmMetresTDTop DiameterUBUnderbarkOBOverbarkDBHDiameter at Breast Height	NS	Norway Spruce
DFDouglas firGFGrand firNFNoble firWHWestern HemlockOMSSerbian SpruceMOPMountain PineLCLawson's CypressRCWestern Red CedarMCMixed ConiferMBMixed BroadleavesBEBeechRONNothofagus ObliquacmCentimetresm³Cubic MetresmMetresTDTop DiameterUBUnderbarkOBOverbarkDBHDiameter at Breast Height	SS	Sitka Spruce
GFGrand firNFNoble firWHWestern HemlockOMSSerbian SpruceMOPMountain PineLCLawson's CypressRCWestern Red CedarMCMixed ConiferMBMixed BroadleavesBEBeechRONNothofagus ObliquacmCentimetresm³Cubic MetresmMetresTDTop DiameterUBUnderbarkOBOverbarkDBHDiameter at Breast Height	MS	Mixed Spruce
NFNoble firWHWestern HemlockOMSSerbian SpruceMOPMountain PineLCLawson's CypressRCWestern Red CedarMCMixed ConiferMBMixed BroadleavesBEBeechRONNothofagus ObliquacmCentimetresm³Cubic MetresmMetresTDTop DiameterUBUnderbarkOBOverbarkDBHDiameter at Breast Height	DF	Douglas fir
WHWestern HemlockOMSSerbian SpruceMOPMountain PineLCLawson's CypressRCWestern Red CedarMCMixed ConiferMBMixed BroadleavesBEBeechRONNothofagus ObliquacmCentimetresm³Cubic MetresmMetresTDTop DiameterUBUnderbarkOBOverbarkDBHDiameter at Breast Height	GF	Grand fir
OMSSerbian SpruceMOPMountain PineLCLawson's CypressRCWestern Red CedarMCMixed ConiferMBMixed BroadleavesBEBeechRONNothofagus ObliquacmCentimetresm³Cubic MetresmMetresTDTop DiameterUBUnderbarkOBOverbarkDBHDiameter at Breast Height	NF	Noble fir
MOPMountain PineLCLawson's CypressRCWestern Red CedarMCMixed ConiferMBMixed BroadleavesBEBeechRONNothofagus ObliquacmCentimetresm³Cubic MetresmMetresTDTop DiameterUBUnderbarkOBOverbarkDBHDiameter at Breast Height	WH	Western Hemlock
LCLawson's CypressRCWestern Red CedarMCMixed ConiferMBMixed BroadleavesBEBeechRONNothofagus ObliquacmCentimetresm³Cubic MetresmMetresTDTop DiameterUBUnderbarkOBOverbarkDBHDiameter at Breast Height	OMS	Serbian Spruce
RCWestern Red CedarMCMixed ConiferMBMixed BroadleavesBEBeechRONNothofagus ObliquacmCentimetresm³Cubic MetresmMetresTDTop DiameterUBUnderbarkOBOverbarkDBHDiameter at Breast Height	МОР	Mountain Pine
MCMixed ConiferMBMixed BroadleavesBEBeechRONNothofagus ObliquacmCentimetresm³Cubic MetresmMetresTDTop DiameterUBUnderbarkOBOverbarkDBHDiameter at Breast Height	LC	Lawson's Cypress
MBMixed BroadleavesBEBeechRONNothofagus ObliquacmCentimetresm³Cubic MetresmMetresTDTop DiameterUBUnderbarkOBOverbarkDBHDiameter at Breast Height	RC	Western Red Cedar
BEBeechRONNothofagus ObliquacmCentimetresm³Cubic MetresmMetresTDTop DiameterUBUnderbarkOBOverbarkDBHDiameter at Breast Height	МС	Mixed Conifer
RONNothofagus ObliquacmCentimetresm³Cubic MetresmMetresTDTop DiameterUBUnderbarkOBOverbarkDBHDiameter at Breast Height	MB	Mixed Broadleaves
cmCentimetresm³Cubic MetresmMetresTDTop DiameterUBUnderbarkOBOverbarkDBHDiameter at Breast Height	BE	Beech
m³Cubic MetresmMetresTDTop DiameterUBUnderbarkOBOverbarkDBHDiameter at Breast Height	RON	Nothofagus Obliqua
mMetresTDTop DiameterUBUnderbarkOBOverbarkDBHDiameter at Breast Height	cm	Centimetres
TDTop DiameterUBUnderbarkOBOverbarkDBHDiameter at Breast Height	m <sup>3</sup>	Cubic Metres
UBUnderbarkOBOverbarkDBHDiameter at Breast Height	m	Metres
OB Overbark DBH Diameter at Breast Height	TD	Top Diameter
DBH Diameter at Breast Height	UB	Underbark
	OB	Overbark
Ha Hectares	DBH	Diameter at Breast Height
	На	Hectares

## FORESTRY AND LAND SCOTLAND - STAFF LIST

Forestry and Land Scotland	Simon Hodgson -	-	Chief Executive
Great Glen House Leachkin Road	Graeme Prest -	-	Head of Land Management
Inverness IV3 8NW	Mick Bottomley -	-	Head of Marketing and Sales 0131 370 5575 (direct line)
Tel No: 0131 370 5541	Graham Godsman -	-	Marketing and Sales Business Manager 0131 370 5545 (direct line)

#### **AREA OPERATIONS REGIONS**

North Region Inverness Forest District Office Smithton, Inverness, IV1 2NL Tel No: 0131 370 5965 <u>Forest Districts within Region</u> North Highland Forest District Inverness Ross & Skye Forest District	Malcolm MacDouga Hazel Maclean Guy Muir Luke Wilson	<ul> <li>Ill - Delivery Manager</li> <li>Assistant Delivery Manager</li> <li>Assistant Delivery Manager</li> <li>Assistant Delivery Manager</li> </ul>
East Region Ordiquhill, Portsoy Road, Huntly AB54 4SJ Tel No: 0131 370 5100 01466 – 794161 <u>Forest Districts within Region</u> Moray & Aberdeenshire Forest District Tay FD	David Henderson Sean Miller Dan Cadle Paul Raisbeck	<ul> <li>Delivery Manager</li> <li>Assistant Delivery Manager</li> <li>Assistant Delivery Manager</li> <li>Assistant Delivery Manager</li> </ul>
Central Region Cowal & Trossachs Forest District Office Aberfoyle, Stirling FK8 3UX Tel No: 0131 370 5674 Forest Districts within Region Cowal & Trossachs Forest District Scottish Lowlands Forest District	Matt Young Russell Lamont Fraser MacDonald Will Huckerby	<ul> <li>Delivery Manager</li> <li>Assistant Delivery Manager</li> <li>Assistant Delivery Manager</li> <li>Assistant Delivery Manager</li> </ul>
West Region West Argyll Forest District Office Whitegates, Lochgilphead, PA31 8RS Tel No: 0131 370 5200 <u>Forest Districts within Region</u> West Argyll Forest District Lochaber Forest District	James Robins Tommy McGrory Stuart Findlay	<ul> <li>Delivery Manager</li> <li>Assistant Delivery Manager</li> <li>Assistant Delivery Manager</li> </ul>
South Region Galloway Forest District Office Creebridge, Newton Stewart, DG8 6AJ Tel No: 0131 370 5900 <u>Forest Districts within Region</u> Galloway Forest District Dumfries & Borders Forest District	Hugh Mackay Sandy White Mark Johnson Lorne Campbell Andy Brown Daniel Brough	<ul> <li>Delivery Manager</li> <li>Assistant Delivery Manager</li> </ul>

LOT NO	LOCATION	SALE TYPE	Species	Est Vol m3obs	Number of Trees	Mean tree size	dbh	Tariff Method	SUPPLY PERIOD	AMOUNT OFFERED (EXCLUDING VAT)
.01	WEST ARGYLL	Clearfell							10/03/24	£
	Loch Na Creige		SS	7750	21463	0.361	23	B6	to 11/08/24	
				7750	21463	0.361				
	F43492									Per tonne
	This site will not require Urea							Estimated weigh	t 6250 tonnes	
.02	WEST ARGYLL	Clearfell							03/03/24	£
	Lephincorrach		SS	10650	22533	0.473	29	B6	to 30/09/24	
				10650	22533	0.473				Per tonne
	E42409									
	F43498 This site will not require Urea								Estimated weigh	

TENDER FORM FOR STANDING TREES 21 February 2024

All bids must be made via Forestry and Land Scotland's online e-sales system (https://esales.forestry.scot) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry and Land Scotland's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

Tenders correctly submitted for Lots in this sale will be 'opened' at 12:00 hours on 21 February 2024 unless otherwise notified as set out above.

FORESTRY AND LAND SCOTLAND

от 0	LOCATION	SALE TYPE	Species	Est Vol m3obs	Number of Trees	Mean tree size	dbh	Tariff Method	SUPPLY PERIOD	AMOUNT OFFER
03	WEST ARGYLL	Clearfell							03/03/24 to	£
	Cruach Molachy		SS	9850	20350	0.484	24	B6	27/10/24	
			LP	2122	8400	0.253	22	B6		
			JL	650	2400	0.271	20	B6		Per tonne
	F43512		SS	400	900	0.444	25	B6		
				13022	32050	0.406			Estimated weigh	it 10528 tonnes
				10022	02000					
	This site will not require Ure	a application.								
)4	This site will not require Ure	a application.							03/03/24	£
4			SS	9447	10381	0.910	31	NA	03/03/24 to 31/07/24	£
4	ТАҮ		SS SS				31 21	NA NA	to	£
94	<b>TAY</b> Guthrie Burn Wb			9447	10381	0.910			to	
)4	ТАҮ		SS	9447 919	10381 3676	0.910 0.250	21	NA	to	£ Per tonne
94	<b>TAY</b> Guthrie Burn Wb		SS DF	9447 919 191	10381 3676 25	0.910 0.250 7.640	21 91	NA NA	to	Per tonne

**TENDER FORM FOR STANDING TREES 21 February 2024** 

This site will not require Urea application.

FORESTRY AND LAND SCOTLAND

All bids must be made via Forestry and Land Scotland's online e-sales system (https://esales.forestry.scot) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry and Land Scotland's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

LOT NO	LOCATION	SALE TYPE	Species	Est Vol m3obs	Number of Trees	Mean tree size	dbh	Tariff Method	SUPPLY PERIOD	AMOUNT OFFERED (EXCLUDING VAT)
1.05	MORAY, ABERDEENSHIRE	Clearfell							29/02/24	£
	Cushnie		LP	4013	47861	0.084	15	A6	to 31/07/24	
			SS	3130	11638	0.269	24	A6		
	F43451			7143	59499	0.120				Per tonne
									Estimated weigh	nt 5896 tonnes
	This site will require Urea application	n.								
1.06	MORAY, ABERDEENSHIRE	Clearfell							29/02/24	£
	Wester Ord		SP	2949	5618	0.525	30	A6	to 09/05/24	
				2949	5618	0.525				
	F43472									Per tonne
	This site will require Urea application	n.							Estimated weigh	nt 2657 tonnes

All bids must be made via Forestry and Land Scotland's online e-sales system (https://esales.forestry.scot) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry and Land Scotland's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

LOT LOCATION SALE Species Est Vol Number Mean dbh Tariff SUPPLY AMOUNT OFFERED NO TYPE m3obs of Trees Method PERIOD (EXCLUDING VAT) tree size £ 1.07 MORAY, ABERDEENSHIRE Clearfell 29/02/24 to Slackwood 30% windthrow DF 3701 14/08/24 1831 2.021 44 A6 NS 3162 2713 1.165 38 A6 JL 1505 1919 0.784 32 A6 Per tonne F43514 SP 1008 1073 0.939 37 A6 SS Estimated weight 7913 tonnes 501 8546 0.059 27 A6 XC 68 79 0.861 37 A6 9945 16161 0.615

**TENDER FORM FOR STANDING TREES 21 February 2024** 

This site will require Urea application.

FORESTRY AND LAND SCOTLAND

All bids must be made via Forestry and Land Scotland's online e-sales system (https://esales.forestry.scot) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry and Land Scotland's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

0						551 ddi y 202	•			
LOT NO	LOCATION	SALE TYPE	Species	Est Vol m3obs	Number of Trees	Mean tree size	dbh	Tariff Method	SUPPLY PERIOD	AMOUNT OFFERED (EXCLUDING VAT)
1.08	NORTH HIGHLAND	Clearfell							29/02/24 to	£
	Beinn Domhnaill	10% windthrow	SS	11150	16374	0.681	28	B6	20/02/25	
			SS	8766	23645	0.371	23	B6		
			SS	2853	6622	0.431	25	B6		Per tonne
	F43201		LP	429	3347	0.128	16	B6		
			LP	91	536	0.170	17	B6	Estimated weigl	ht 18816 tonnes
			LP	20	115	0.174	18	B6		
				23309	50639	0.460				

**TENDER FORM FOR STANDING TREES 21 February 2024** 

This site will not require Urea application.

FORESTRY AND LAND SCOTLAND

All bids must be made via Forestry and Land Scotland's online e-sales system (https://esales.forestry.scot) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry and Land Scotland's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

#### **TENDER FORM FOR STANDING TREES 21 February 2024**

LOT NO	LOCATION	SALE TYPE	Species	Est Vol m3obs	Number of Trees	Mean tree size	dbh	Tariff Method	SUPPLY PERIOD	AMOUNT OFFERED (EXCLUDING VAT)
1.09	NORTH HIGHLAND	Clearfell							04/03/24 to	£
	Strathrannoch		SS	23668	28512	0.830	31	B6	31/03/25	
			SP	14413	22320	0.646	30	B6		
			JL	9918	9998	0.992	31	B6		Per tonne
	F43237		LP	4734	13449	0.352	22	B6		
			SS	2412	4020	0.600	28	B6	Estimated weight	47818 tonnes
			JL	1914	1063	1.801	42	B6		
			NS	659	210	3.138	54	B6		
			MC	443	636	0.697	31	B6		
			SS	269	1573	0.171	17	B6		
				58430	81781	0.714				

This site will require Urea application.

All bids must be made via Forestry and Land Scotland's online e-sales system (https://esales.forestry.scot) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry and Land Scotland's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

	LOCATION	SALE TYPE	Species	Est Vol m3obs	Number of Trees	Mean tree size	dbh	Tariff Method	SUPPLY PERIOD	AMOUNT OFFERED (EXCLUDING VAT)
.10	INVERNESS,ROSS, SKYE	Clearfell							01/03/24	£
	Reraig Face Part1	5% windthrow	SS	2262	3264	0.693	28	B6	to 30/06/24	
			LP	1136	4472	0.254	21	B6		
			LP	934	4610	0.203	19	B6		Per tonne
	F43143		NF	360	358	1.006	30	B6		
			LP	334	1532	0.218	20	B6	Estimated weigh	t 4336 tonnes
			WH	193	627	0.308	22	B6		
			NS	45	271	0.166	19	B6		
				5264	15134	0.348				
	This site will not require Urea app								04/00/04	
11	This site will not require Urea app	lication.							01/03/24 to	£
11			SS	9072	11696	0.776	29	B6		£
11	INVERNESS,ROSS, SKYE		LP	4400	14643	0.300	22	B6	to	£
11	INVERNESS,ROSS, SKYE								to	£ Per tonne
11	INVERNESS,ROSS, SKYE Lugnabrock		LP	4400	14643	0.300	22	B6	to	Per tonne

**TENDER FORM FOR STANDING TREES 21 February 2024** 

All bids must be made via Forestry and Land Scotland's online e-sales system (https://esales.forestry.scot) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry and Land Scotland's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

Tenders correctly submitted for Lots in this sale will be 'opened' at 12:00 hours on 21 February 2024 unless otherwise notified as set out above.

FORESTRY AND LAND SCOTLAND

ORES	TRY AND LAND SCOTLAND	TENDE	R FORM FO	R STANDING T	REES 21 F	ebruary 2024	ŀ			
LOT NO	LOCATION	SALE TYPE	Species	Est Vol m3obs	Number of Trees	Mean tree size	dbh	Tariff Method	SUPPLY PERIOD	AMOUNT OFFERED (EXCLUDING VAT)
.12	INVERNESS,ROSS, SKYE	Clearfell							01/03/24	£
	Alltsigh Road		WH	5160	8797	0.587	26	B6	to 31/12/24	
			EL	2044	1286	1.590	37	B6		
			MS	1483	1883	0.788	29	B6		Per tonne
	F43520		DF	1058	1002	1.056	45	B6		
			LC	581	1454	0.400	30	B6	Estimated weight	8326 tonnes
				10326	14422	0.716				
.13	This site will require Urea applicati	on.							25/02/24	£
	Comer Hill	13% windthrow	SS	8637	6886	1.254	38	B6	to 31/12/24	
			NS	1555	2125	0.732	29	B6	0.,	
			LP	607	2248	0.270	20	B6		Per tonne
	F43452		EL	78	139	0.561	26	B6		Pertonne
				10877	11398	0.954			Estimated weight	8833 tonnes
	In wood haulage required to Hoish	stack yard.								

All bids must be made via Forestry and Land Scotland's online e-sales system (https://esales.forestry.scot) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry and Land Scotland's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

#### **TENDER FORM FOR STANDING TREES 21 February 2024**

LOT NO	LOCATION	SALE TYPE	Species	Est Vol m3obs	Number of Trees	Mean tree size	dbh	Tariff Method	SUPPLY PERIOD	AMOUNT OFFERED (EXCLUDING VAT)
1.14	SCOTTISH LOWLANDS	Clearfell							11/03/24 to	£
	Benhar	30% windthrow	SS	425	1207	0.352	22	B6	30/06/24	
			SS	185	526	0.352	22	NA		
			JL	106	316	0.335	23	B6		Per tonne
	F43330		JL	46	138	0.333	23	NA		
				762	2187	0.348			Estimated weigh	nt 604 tonnes

D Micans present. No movement of timber to pest free area permitted. This site will not require Urea application.

.15	SCOTTISH LOWLANDS	Clearfell							04/03/24 to	£
	Heathland 89022	5% windthrow	SS	2197	3275	0.671	27	B6	21/06/24	
			SS	2125	5711	0.372	23	B6		
			JL	830	1656	0.501	26	B6		Per tonne
	F43373		JL	728	1674	0.435	24	B6		i ci tonne
									Estimated weigh	t 4631 tonnes
				5880	12316	0.477				

This site will not require Urea application.

All bids must be made via Forestry and Land Scotland's online e-sales system (https://esales.forestry.scot) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry and Land Scotland's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

FORESTRY AND L	AND SCOTLAND
----------------	--------------

#### TENDER FORM FOR STANDING TREES 21 February 2024

LOT NO	LOCATION	SALE TYPE	Species	Est Vol m3obs	Number of Trees	Mean tree size	dbh	Tariff Method	SUPPLY PERIOD	AMOUNT OFFERED (EXCLUDING VAT)
1.16	SCOTTISH LOWLANDS	Clearfell							04/03/24 to	£
	Whitelee 40063	5% windthrow	SS	1996	7221	0.276	21	B6	14/06/24	
			SS	1981	4584	0.432	24	B6		
	F43374		SS	145	336	0.432	24	NA		Per tonne
				4122	12141	0.340			Estimated weight	3325 tonnes
1.17	This site will not require Urea ap This Lot contains approx 5% wir SCOTTISH LOWLANDS								04/03/24	£
	Whitelee 40310	5% windthrow	SS	4281	39668	0.108	15	B6	to 14/06/24	
			SS	929	9412	0.099	14	B6		
	F43375			5210	49080	0.106				Per tonne
									Estimated weight	4201 tonnes
	This site will not require Urea ap This Lot contains approx 5% wir	pplication.								

All bids must be made via Forestry and Land Scotland's online e-sales system (https://esales.forestry.scot) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry and Land Scotland's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

FORESTRY AND LAND SCOTLAND **TENDER FORM FOR STANDING TREES 21 February 2024** LOT LOCATION SALE Species Est Vol Number Mean dbh Tariff SUPPLY AMOUNT OFFERED NO TYPE m3obs of Trees Method PERIOD (EXCLUDING VAT) tree size GALLOWAY Clearfell £ 1.18 03/03/24 to Spectacle Loch SS 1802 41 NA 31/10/24 1060 1.700 SS 1157 8900 0.130 18 NA JL 737 1170 0.630 27 NA Per tonne F43535 LΡ 597 7463 0.080 14 NA LΡ 414 Estimated weight 4136 tonnes 531 0.780 31 NA SS 260 316 0.823 29 B6 LΡ 176 243 0.724 29 B6 5143 0.261 19683

All bids must be made via Forestry and Land Scotland's online e-sales system (https://esales.forestry.scot) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry and Land Scotland's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

FORES	TRY AND LAND SCOTLAND	TENDE	R FORM FO	R STANDING T	REES 21 F	ebruary 2024	1			
LOT NO	LOCATION	SALE TYPE	Species	Est Vol m3obs	Number of Trees	Mean tree size	dbh	Tariff Method	SUPPLY PERIOD	AMOUNT OFFERED (EXCLUDING VAT)
1.19	GALLOWAY	Clearfell							03/03/24 to	£
	Balloch Lane		SS	10907	14001	0.779	28	B6	31/10/24	
			SS	3683	4728	0.779	28	NA		
			JL	970	2658	0.365	21	B6		Per tonne
	F43534		JL	698	1912	0.365	28	NA		
				16258	23299	0.698			Estimated weigl	ht 12992 tonnes
	This site will not require Urea appl	ication.								
1.20	DUMFRIES AND BORDERS	Clearfell							15/04/24	£
	Green Hill	27% windthrow	SS	22790	34180	0.667	27	B6	to 14/10/24	
			NF	610	683	0.893	32	B6		
	F43480			23400	34863	0.671				Per tonne
									Estimated weigl	ht 18879 tonnes
	This site will not require Urea appl	ication.								

All bids must be made via Forestry and Land Scotland's online e-sales system (https://esales.forestry.scot) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry and Land Scotland's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

LOT NO	LOCATION	SALE TYPE	Species	Est Vol m3obs	Number of Trees	Mean tree size	dbh	Tariff Method	SUPPLY PERIOD	AMOUNT OFFERED (EXCLUDING VAT)
.21	DUMFRIES AND BORDERS	Clearfell							08/04/24	£
	Ryegrain Rig	5% windthrow	SS	6499	29054	0.224	19	B6	to 30/09/24	
				6499	29054	0.224				
	F43509									Per tonne
	This site will not require Urea appli	ication.							Estimated weigh	nt 5241 tonnes
.22	DUMFRIES AND BORDERS	Clearfell							08/04/24	£
	Lockerty Burn	23% windthrow	SS	13757	35904	0.383	24	B6	to 30/09/24	
				13757	35904	0.383				
	F43515									Per tonne
	This site will not require Urea appli	ication.							Estimated weigh	nt 11095 tonnes
.23	DUMFRIES AND BORDERS	Clearfell							08/04/24	£
	Pullish Sikes	20% windthrow	SS	20516	91129	0.225	27	B6	to 30/09/24	
				20516	91129	0.225				
	F43517									Per tonne
	This site will not require Urea application.								Estimated weigh	nt 16545 tonnes

**TENDER FORM FOR STANDING TREES 21 February 2024** 

All bids must be made via Forestry and Land Scotland's online e-sales system (https://esales.forestry.scot) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry and Land Scotland's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

Tenders correctly submitted for Lots in this sale will be 'opened' at 12:00 hours on 21 February 2024 unless otherwise notified as set out above.

FORESTRY AND LAND SCOTLAND

All bids must be made via Forestry and Land Scotland's online e-sales system (https://esales.forestry.scot) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry and Land Scotland's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

			LOG DESCRIP	FION		
LOT NO	LOCATION	MINIMUM TOP DIAMETER UB AND SPECIES	QUANTITY, POINT OF SALE AND CLASSIFICATION		COMPLETION DATE	AMOUNT OFFERED (EXCLUDING VAT)
2.01	TAY	16 cm	1000 M3UB Roadside	4.9 - 5.0 m 32 28/02/24	to 31/05/24	£
	Tab 19031 Quarry	SS	Green Logs			Per m3UB
	F43406			Material at roadside.		
2.02	NORTH HIGHLAND	16 cm	300 M3UB Roadside	4.9 - 4.9 m 35 24/02/24	to 06/04/24	£
	Loch Ailsh 2	SS	Green Logs			Per m3UB
	F43504			This lot comprises of approximately 5% Material will be at roadside 28th Februa		
2.03	SCOTTISH LOWLANDS	16 cm	6000 M3UB Roadside	3.7 - 4.9 m 27 03/03/24	to 31/12/24	£
	Carron	MS	Green Logs			Per m3UB
	F43385			This is a Green Log parcel with approx Sub-division of MS (SS 70%, NS 30%) Material at roadside 19th February 202	-	

All bids must be made via Forestry and Land Scotland's online e-sales system (https://esales.forestry.scot) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry and Land Scotland's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

			LOG DESCRIP	TION		
LOT NO	LOCATION	MINIMUM TOP DIAMETER UB AND SPECIES	QUANTITY, POINT OF SALE AND CLASSIFICATION	LENGTH STAND SPECIFIED DBH (CM)	COMMENCEMENT AND COMPLETION DATE	AMOUNT OFFERED (EXCLUDING VAT)
2.04	COWAL AND TROSSACHS	18 cm	850 M3UB Roadside	4.9 - 4.9 m 50	31/03/24 to 26/07/24	£
	Braeval	MS	Green Logs			Per m3UB
	F43360			SPHN SITE - parcel is from a This is a Green Log parcel wi at roadside by 31 Jan 24.	a site which is infected by PR. ith 30% Red log element. Material	
2.05	DUMFRIES AND BORDERS	16 cm	500 M3UB Roadside	3.7 - 4.9 m 34	28/02/24 to 30/04/24	£
	Meadshaw	SS	Green Logs			Per m3UB
	F43511			Harvesting started January '2 by 28th February 2024. 90% 4.9 and 10% 3.7 - 100%	4. All product will be at roadside	
2.06	DUMFRIES AND BORDERS	16 cm	1000 M3UB Roadside	3.7 - 4.9 m 30	28/02/24 to 31/05/24	£
	Cowieslinn	MS	Green Logs			Per m3UB
	F43455			Some material available from Remainder coming to roadsid GL and 20% RL	28th February at roadside. de until end of March 2024. 80%	

All bids must be made via Forestry and Land Scotland's online e-sales system (https://esales.forestry.scot) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry and Land Scotland's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

			LOG DESCRIPT	TION		
LOT NO	LOCATION	MINIMUM TOP DIAMETER UB AND SPECIES	QUANTITY, POINT OF SALE AND CLASSIFICATION	LENGTH STAND SPECIFIED DBH (CM)	COMMENCEMENT AND COMPLETION DATE	AMOUNT OFFERED (EXCLUDING VAT)
2.07	DUMFRIES AND BORDERS	16 cm	2000 M3UB Roadside	3.7 - 4.9 m 30	28/02/24 to 31/07/24	£
	Grey Hill	SS	Green Logs			Per m3UB
	F43459			Harvesting started in Januar 31st March 2024. 90% 4.9 s and 10% 3.7 s.	y '24. All product at roadside by	
2.08	DUMFRIES AND BORDERS	18 cm	2000 M3UB Roadside	3.7 - 4.9 m 28	28/02/24 to 30/06/24	£
	Bracken Road Windblow	SS	Green Logs			Per m3UB
	F43463			Harvesting started in Januar roadside April 2024. 90% 4.9 s and 10% 3.7 s.	y '24. All product will be at	
2.09	DUMFRIES AND BORDERS	16 cm	500 M3UB Roadside	3.7 - 4.9 m 40	28/02/24 to 30/04/24	£
	Middlebar Knowe	SS	Green Logs			Per m3UB
	F43466			Harvesting started in Januar roadside by March 2024, 90 80% GL and 20% RL		

All bids must be made via Forestry and Land Scotland's online e-sales system (https://esales.forestry.scot) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry and Land Scotland's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

			LOG DESCRIPT	TION		
LOT NO	LOCATION	MINIMUM TOP DIAMETER UB AND SPECIES	QUANTITY, POINT OF SALE AND CLASSIFICATION	LENGTH STAND SPECIFIED DBH (CM)	COMMENCEMENT AND COMPLETION DATE	AMOUNT OFFERED (EXCLUDING VAT)
2.10	GALLOWAY	16 cm	750 M3UB Roadside	3.7 - 4.9 m 30	28/02/24 to 30/05/24	£
	Loch Swad	SS	Red Logs(60%Green)			Per m3UB
	F43500				a 60% Green log element. Live at roadside 28th February 2024.	
2.11	GALLOWAY	16 cm	750 M3UB Roadside	3.7 - 4.9 m 30	28/02/24 to 30/05/24	£
	Glenwhan	SS	Red Logs(60%Green)			Per m3UB
	F43501			This is a Red log parcel with Live coupe some material w 2024.	a 60% Green log element. ill be at roadside 28th February	
2.12	GALLOWAY	16 cm	500 M3UB Roadside	3.7 - 4.9 m 30	28/02/24 to 30/05/24	£
	Shield Rig	SS	Red Logs(60%Green)			Per m3UB
	F43502			This is a Red log parcel with Live coupe some material w 2024.	a 60% Green log element. ill be at roadside 28th February	

All bids must be made via Forestry and Land Scotland's online e-sales system (https://esales.forestry.scot) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry and Land Scotland's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

			LOG DESCRIP	TION		
LOT NO	LOCATION	MINIMUM TOP DIAMETER UB AND SPECIES	QUANTITY, POINT OF SALE AND CLASSIFICATION	LENGTH STAND SPECIFIED DBH (CM)	COMMENCEMENT AND COMPLETION DATE	AMOUNT OFFERED (EXCLUDING VAT)
2.13	DUMFRIES AND BORDERS	14 cm	5000 M3UB Roadside	3.7 - 4.9 m 25	11/04/24 to 30/09/24	£
	Greskine Green Sike	MS	Red Logs			Per m3UB
	F43462			This is a Red log parcel with element.Material will be at ro		
2.14	DUMFRIES AND BORDERS	14 cm	500 Tonnes Roadside	2.5 - 2.5 m 25	11/04/24 to 30/06/24	£
	Greskine Green Sike	MS	Short Green A			Per tonne
	F43458			Material will be at roadside b	y 11th April.	
2.15	COWAL AND TROSSACHS	30 cm	250 Tonnes Roadside	4.9 - 5.2 m 52	28/02/24 to 26/07/24	£
	Braeval	MS	Other Logs			Per tonne
	F43359				site which is infected with PR. roximately 70%. Material at	

All bids must be made via Forestry and Land Scotland's online e-sales system (https://esales.forestry.scot) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry and Land Scotland's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

			LOG DESCRIP	TION		
LOT NO	LOCATION	MINIMUM TOP DIAMETER UB AND SPECIES	QUANTITY, POINT OF SALE AND CLASSIFICATION	LENGTH STAND SPECIFIED DBH (CM)	COMMENCEMENT AND COMPLETION DATE	AMOUNT OFFERED (EXCLUDING VAT)
2.16	COWAL AND TROSSACHS	30 cm	350 Tonnes Roadside	4.9 - 4.9 m 48	28/02/24 to 25/07/24	£
	Milton	MS	Other Logs			Per tonne
	F43362			Green log percentage is appr Material at roadside 23rd Feb		
2.17	COWAL AND TROSSACHS	30 cm	450 Tonnes Roadside	4.9 - 4.9 m 38	28/02/24 to 15/05/24	£
	Anchorage	MS	Other Logs			Per tonne
	F43477			Green log percentage is appr Material at roadside 23rd Feb		
2.18	SCOTTISH LOWLANDS	30 cm	100 Tonnes Roadside	4.9 - 6.2 m 50	24/03/24 to 31/12/24	£
	Carron	MS	Other Logs			Per tonne
	F43386			Green log percentage is appr Sub-division of MS (SS 70%, Harvesting to start approxima	NS 30%)	

All bids must be made via Forestry and Land Scotland's online e-sales system (https://esales.forestry.scot) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry and Land Scotland's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

TENDER FORM FOR SAWLOG: 21 February 2024

			LOG DESCRIPT	ION		
LOT NO	LOCATION	MINIMUM TOP DIAMETER UB AND SPECIES	QUANTITY, POINT OF SALE AND CLASSIFICATION	LENGTH STAND SPECIFIED DBH (CM)	COMMENCEMENT AND COMPLETION DATE	AMOUNT OFFERED (EXCLUDING VAT)
2.19	GALLOWAY	35 cm	100 Tonnes Roadside	4.9 - 4.9 m 40	28/02/24 to 30/04/24	£
	Blairderry 2, Kilquohockadale Flow, Torrs Of Kirreroch, Loch Swad, Water Of Girvan	SS	Other Logs	Approximately 50% of parce	I volume at roadside	Per tonne
	F43483			Green log percentage is app	proximately 60%	
2.20	GALLOWAY	35 cm	40 Tonnes Roadside	4.9 - 4.9 m 40	28/02/24 to 31/03/24	£
	Carminnows/Barlae Hill, Rig Of Kirriereoch, Cats Craig, Knocknairling Burn, Lochspraig Burn, Shiel Rig	NS	Other Logs	Felled December 2022		Per tonne
	F43487			Green log percentage appro	ximately 60%.	
2.21	DUMFRIES AND BORDERS	30 cm	500 Tonnes Roadside	3.7 - 4.9 m 30	11/04/24 to 30/09/24	£
	Greskine Green Sike	MS	Other Logs			Per tonne
	F43460			Green log percentage is app roadside by 11th April.	proximately 20%. Material will be at	

All bids must be made via Forestry and Land Scotland's online e-sales system (https://esales.forestry.scot) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry and Land Scotland's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

			LOG DESCRIPT	ΓΙΟΝ		
LOT NO	LOCATION	MINIMUM TOP DIAMETER UB AND SPECIES	QUANTITY, POINT OF SALE AND CLASSIFICATION	LENGTH STAND SPECIFIED DBH (CM)	COMMENCEMENT AND COMPLETION DATE	AMOUNT OFFERED (EXCLUDING VAT)
2.22	DUMFRIES AND BORDERS	35 cm	750 Tonnes Roadside	4.9 - 4.9 m 55	28/02/24 to 30/04/24	£
	South Heights	SS	Other Logs			Per tonne
	F43467			by February 2024.	er '23. Product will be to roadside entage is approximately 60%.	
2.23	ТАҮ	7 cm	1000 Tonnes Roadside	3.0 - 3.1 m 22	28/02/24 to 30/04/24	£
	Tab Quarry	МС	Chipwood			Per tonne
	F43405			This material is at roadside.		
2.24	SCOTTISH LOWLANDS	30 cm	200 Tonnes Roadside	3.0 - 3.0 m 50	03/03/24 to 31/08/24	£
	Carron	MS	Chipwood			Per tonne
	F43387			This is an oversized chipwoo Sub-division of MS (approx S Material at roadside 19th Fel	SS 80%, NS 20%).	

All bids must be made via Forestry and Land Scotland's online e-sales system (https://esales.forestry.scot) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry and Land Scotland's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

			LOG DESCRIP	ΓΙΟΝ		
LOT NO	LOCATION	MINIMUM TOP DIAMETER UB AND SPECIES	QUANTITY, POINT OF SALE AND CLASSIFICATION	LENGTH STAND SPECIFIED DBH (CM)	COMMENCEMENT AND COMPLETION DATE	AMOUNT OFFERED (EXCLUDING VAT)
2.25	SCOTTISH LOWLANDS	7 cm	3000 Tonnes Roadside	3.0 - 3.0 m 27	03/03/24 to 31/07/24	£
	Carron	MS	Chipwood			Per tonne
	F43388			Sub-division of MS (SS 70% Material at roadside 19th Fe		
2.26	GALLOWAY	40 cm	300 Tonnes Roadside	2.9 - 3.0 m 24	04/03/24 to 30/06/24	£
	Glassoch Fell	МС	Chipwood			Per tonne
	F43439			Material is at roadside Dece This parcel is for oversize ch		
2.27	GALLOWAY	7 cm	500 Tonnes Roadside	2.9 - 3.0 m 24	04/03/24 to 30/06/24	£
	Loch Swad	SS	Chipwood			Per tonne
	F43440			Material is at roadside Dece	mber 2023.	

All bids must be made via Forestry and Land Scotland's online e-sales system ( https://esales.forestry.scot ) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry and Land Scotland's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

			LOG DESCRIP	ΓΙΟΝ		
LOT NO	LOCATION	MINIMUM TOP DIAMETER UB AND SPECIES	QUANTITY, POINT OF SALE AND CLASSIFICATION	LENGTH STAND SPECIFIED DBH (CM)	COMMENCEMENT AND COMPLETION DATE	AMOUNT OFFERED (EXCLUDING VAT)
2.28	GALLOWAY	7 cm	500 Tonnes Roadside	2.9 - 3.0 m 24	04/03/24 to 30/06/24	£
	Castle Loch	MC	Chipwood			Per tonne
	F43441			Material is at roadside Dece	mber 2023.	
2.29	GALLOWAY	7 cm	500 Tonnes Roadside	2.9 - 3.0 m 24	04/03/24 to 30/06/24	£
	Dergoals Burn	МС	Chipwood			Per tonne
	F43442			Material is at roadside Janua	ary 2024.	
2.30	GALLOWAY	7 cm	350 Tonnes Roadside	2.9 - 3.0 m 24	04/03/24 to 30/06/24	£
	Glassoch Fell	JL	Chipwood			Per tonne
	F43443			Material is at roadside Dece	mber 2023.	
	I	I	I	I		

All bids must be made via Forestry and Land Scotland's online e-sales system (https://esales.forestry.scot) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry and Land Scotland's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

			LOG DESCRIP	TION		
LOT NO	LOCATION	MINIMUM TOP DIAMETER UB AND SPECIES	QUANTITY, POINT OF SALE AND CLASSIFICATION	LENGTH STAND SPECIFIED DBH (CM)	COMMENCEMENT AND COMPLETION DATE	AMOUNT OFFERED (EXCLUDING VAT)
2.31	GALLOWAY	7 cm	500 Tonnes Roadside	2.9 - 3.0 m 24	04/03/24 to 30/07/24	£
	Shield Rig	MC	Chipwood			Per tonne
	F43444			Material is at roadside Dece	ember 2023.	
2.32	GALLOWAY	40 cm	1500 Tonnes Roadside	2.9 - 3.0 m 24	04/03/24 to 30/06/24	£
	Torrs Of Kirerroch	MC	Chipwood			Per tonne
	F43445			Material is at roadside Dece This parcel is for oversize cl		
2.33	DUMFRIES AND BORDERS	7 cm	2000 Tonnes Roadside	3.0 - 3.0 m 25	28/02/24 to 30/07/24	£
	Dalbeattie Forest	MC	Chipwood			Per tonne
	F43454			This parcel contains 35% de 700 tonnes of material alrea		

All bids must be made via Forestry and Land Scotland's online e-sales system (https://esales.forestry.scot) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry and Land Scotland's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

			LOG DESCRIP	TION		
LOT NO	LOCATION	MINIMUM TOP DIAMETER UB AND SPECIES	QUANTITY, POINT OF SALE AND CLASSIFICATION	LENGTH STAND SPECIFIED DBH (CM)	COMMENCEMENT AND COMPLETION DATE	AMOUNT OFFERED (EXCLUDING VAT)
2.34	DUMFRIES AND BORDERS	7 cm	1000 Tonnes Roadside	3.0 - 3.0 m 15	28/02/24 to 30/05/24	£
	Dry Rig	MS	Chipwood			Per tonne
	F43456			Material already at roadside		
2.35	DUMFRIES AND BORDERS	7 cm	1200 Tonnes Roadside	3.0 - 3.0 m 15	28/02/24 to 30/05/24	£
	Greskine Green Sike	MS	Chipwood			Per tonne
	F43457			This parcel contains 35% de Material already at roadside		
2.36	DUMFRIES AND BORDERS	7 cm	1000 Tonnes Roadside	3.0 - 3.0 m 25	28/02/24 to 30/06/24	£
	Kirkland Hill Wb	MC	Chipwood			Per tonne
	F43464			Material will be at roadside l	by 10th March.	

All bids must be made via Forestry and Land Scotland's online e-sales system (https://esales.forestry.scot) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry and Land Scotland's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

			LOG DESCRIP	TION		
LOT NO	LOCATION	MINIMUM TOP DIAMETER UB AND SPECIES	QUANTITY, POINT OF SALE AND CLASSIFICATION	LENGTH STAND SPECIFIED DBH (CM)	COMMENCEMENT AND COMPLETION DATE	AMOUNT OFFERED (EXCLUDING VAT)
2.37	WEST ARGYLL	7 cm	500 Tonnes Roadside	2.5 - 4.9 m 24	28/02/24 to 31/05/24	£
	Finchcairn	MC	Woodfuel			Per tonne
	F43478			This lot comprises approx 60 <sup>o</sup> Shared stacking area with ad roadside and to be lifted withi	jacent coupe. Material at	
2.38	WEST ARGYLL	7 cm	1000 Tonnes Roadside	2.5 - 4.9 m 24	28/02/24 to 22/05/24	£
	Tom A'Chaorainn	МС	Woodfuel			Per tonne
	F43479			This lot comprises approx 50 Material at roadside. (2.5m - 0.5%, 3.0m - 94.5%, 3		
2.39	MORAY, ABERDEENSHIRE	7 cm	500 Tonnes Roadside	3.0 - 3.1 m 34	29/02/24 to 31/05/24	£
	Kingshill	МС	Woodfuel			Per tonne
	F43513			Mostly mixed Spruce, some C This lot comprises approx 5% Material at roadside January	deadwood.	

All bids must be made via Forestry and Land Scotland's online e-sales system (https://esales.forestry.scot) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry and Land Scotland's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

			LOG DESCRIP	TION		
LOT NO	LOCATION	MINIMUM TOP DIAMETER UB AND SPECIES	QUANTITY, POINT OF SALE AND CLASSIFICATION	LENGTH STAND SPECIFIED DBH (CM)	COMMENCEMENT AND COMPLETION DATE	AMOUNT OFFERED (EXCLUDING VAT)
2.40	MORAY, ABERDEENSHIRE	7 cm	500 Tonnes Roadside	3.0 - 3.1 m 34	29/02/24 to 31/07/24	£
	Gormack Burn	MC	Woodfuel			Per tonne
	F43516			This lot comprises approx 59 Material at roadside late Feb		
2.41		7 cm	1000 Tonnes Roadside	2.9 - 3.1 m 25	06/03/24 to 30/11/24	£
	Swanny Hill	MC	Woodfuel			Per tonne
	F43527				5-20% deadwood. Note min. All material is at roadside. Contract date	
2.42	NORTH HIGHLAND	12 cm	1400 Tonnes Roadside	3.0 - 3.0 m 25	28/02/24 to 08/05/24	£
	Strathsegaich 2	SS	Woodfuel			Per tonne
	F43505			This lot comprises of approx Material at roadside.	imately 5% deadwood.	

All bids must be made via Forestry and Land Scotland's online e-sales system (https://esales.forestry.scot) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry and Land Scotland's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

			LOG DESCRIP	TION		
LOT NO	LOCATION	MINIMUM TOP DIAMETER UB AND SPECIES	QUANTITY, POINT OF SALE AND CLASSIFICATION		COMMENCEMENT AND COMPLETION DATE	AMOUNT OFFERED (EXCLUDING VAT)
2.43	NORTH HIGHLAND	12 cm	300 Tonnes Roadside	3.0 - 3.0 m 25 28/0	02/24 to 10/04/24	£
	Mealan Odhar 2	SS	Woodfuel			Per tonne
	F43506			This lot comprises of approximate Material is at roadside.	ely 5% deadwood.	
2.44	NORTH HIGHLAND	12 cm	300 Tonnes Roadside	3.0 - 3.0 m 25 01/0	03/24 to 12/04/24	£
	Loch Ailsh 3	SS	Woodfuel			Per tonne
	F43507			This lot comprises approximately Material will be at roadside 1st Ma		
2.45	NORTH HIGHLAND	12 cm	3000 Tonnes Roadside	3.0 - 3.0 m 25 28/0	02/24 to 15/06/24	£
	Glen Oykel 2	SS	Woodfuel			Per tonne
	F43508			This lot comprises of approximate Material will be at roadside 28th F		

All bids must be made via Forestry and Land Scotland's online e-sales system (https://esales.forestry.scot) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry and Land Scotland's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

			LOG DESCRIPT	TION		
LOT NO	LOCATION	MINIMUM TOP DIAMETER UB AND SPECIES	QUANTITY, POINT OF SALE AND CLASSIFICATION	LENGTH STAND SPECIFIED DBH (CM)	COMMENCEMENT AND COMPLETION DATE	AMOUNT OFFERED (EXCLUDING VAT)
2.46	COWAL AND TROSSACHS	7 cm	1000 Tonnes Roadside	3.0 - 3.0 m 32	28/02/24 to 26/07/24	£
	Braeval	MC	Woodfuel			Per tonne
	F43361			SPHN SITE - volume contain This lot comprises approx 3 roadside by 31st March 24.	ns larch which is infected with PR. % deadwood. Material at	
2.47	COWAL AND TROSSACHS	6 cm	1000 Tonnes Roadside	3.0 - 3.0 m 32	23/02/24 to 10/08/24	£
	Garadbhan	МС	Woodfuel			Per tonne
	F43489			This volume contains larch in ramorum. This lot comprises at roadside 23rd February 20	s approx 5% deadwood. Material	
2.48	COWAL AND TROSSACHS	6 cm	2500 Tonnes Roadside	3.0 - 3.0 m 28	28/02/24 to 25/05/24	£
	Forest Drive	EL	Woodfuel			Per tonne
	F43496				arch infected with Phytophthora s approx 5% deadwood. Material 024.	

All bids must be made via Forestry and Land Scotland's online e-sales system (https://esales.forestry.scot) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry and Land Scotland's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

			LOG DESCRIP	TION		
LOT NO	LOCATION	MINIMUM TOP DIAMETER UB AND SPECIES	QUANTITY, POINT OF SALE AND CLASSIFICATION	LENGTH STAND SPECIFIED DBH (CM)	COMMENCEMENT AND COMPLETION DATE	AMOUNT OFFERED (EXCLUDING VAT)
2.49	DUMFRIES AND BORDERS	7 cm	1000 Tonnes Roadside	3.0 - 3.0 m 28	28/02/24 to 30/04/24	£
	Bracken Road	SS	Woodfuel			Per tonne
	F43465			Harvesting started in January roadside March 2024.	'24. All product will be at	
2.50	DUMFRIES AND BORDERS	7 cm	2000 Tonnes Roadside	3.0 - 4.9 m 35	28/02/24 to 30/06/24	£
	South Heights	SS	Woodfuel			Per tonne
	F43468			Harvesting started in Jan.All p February 2024. 90% 3 m, the comprises approx 50% deady	rest various lengths. This lot	
2.51	DUMFRIES AND BORDERS	7 cm	500 Tonnes Roadside	3.0 - 4.9 m 32	28/02/24 to 31/05/24	£
	Cowieslinn	мс	Woodfuel			Per tonne
	F43469			Harvesting started in Jan.All p April 2024. 90% 3.0 m, the re comprises approx 70% deady	st will be various. This lot	

All bids must be made via Forestry and Land Scotland's online e-sales system (https://esales.forestry.scot) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry and Land Scotland's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

			LOG DESCRIP	ΓΙΟΝ	
LOT NO	LOCATION	MINIMUM TOP DIAMETER UB AND SPECIES	QUANTITY, POINT OF SALE AND CLASSIFICATION	LENGTH STAND COMMENCEME SPECIFIED DBH (CM)	
2.52	DUMFRIES AND BORDERS	7 cm	1000 Tonnes Roadside	3.0 - 4.9 m 32 28/02/24 to 31/	/05/24 £
	Markalder Bush Traquair	SS	Woodfuel		Per tonne
	F43470			All product will be at roadside by February 2024 90% 3.0 m and the rest will be various. This lot comprises approx 50% deadwood.	4.
2.53	DUMFRIES AND BORDERS	7 cm	1000 Tonnes Roadside	3.0 - 3.0 m 20 28/02/24 to 30/	/06/24 £
	Lea Knowe South	МС	Woodfuel		Per tonne
	F43475			This lot comprises approx 35% deadwood. Material at roadside.	
2.54	DUMFRIES AND BORDERS	7 cm	1000 Tonnes Roadside	3.0 - 3.0 m 20 28/02/24 to 30/	/06/24 £
	Loch Rig	МС	Woodfuel		Per tonne
	F43476			This parcel contains 35% deadwood element. Material at roadside.	

All bids must be made via Forestry and Land Scotland's online e-sales system (https://esales.forestry.scot) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry and Land Scotland's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

			LOG DESCRIPTI			
LOT NO	LOCATION	MINIMUM TOP DIAMETER UB AND SPECIES	QUANTITY, POINT OF SALE AND CLASSIFICATION	LENGTH STAND SPECIFIED DBH (CM)	COMMENCEMENT AND COMPLETION DATE	AMOUNT OFFERED (EXCLUDING VAT)
2.55	DUMFRIES AND BORDERS	7 cm	2000 Tonnes Roadside	3.0 - 4.9 m 30	26/02/24 to 30/06/24	£
	Grey Hill Windblow Woodfuel - Craik	SS	Woodfuel			Per tonne
	F43510			•	uct will be at roadside by end of d 10% will be various. This lot dwood.	

All bids must be made via Forestry and Land Scotland's online e-sales system (https://esales.forestry.scot) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry and Land Scotland's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.